Government of Chhattisgarh



Scholarship Schome Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19

State: Government of Chhattisgarh

Sanction Number: R/8/3952/2/7/86971

Sanction Date: 13/03/2019

Applications Type: Renewal

oplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
188305	NEHA NAGWANSHI	Female	M. Sc./Chemistry/II	Renewal	8	530	4240	0	2465	2465	6705
553978	JEEVAN JYOTI BAXLA	Female	B. Sc./Science/III	Renewal	10	300	3000	0	2185	2185	5185
559502	AMRITA PAINKRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
596896	ANJNA XALXO	Female	M. Sc./Chemistry/II	Renewal	8	530	4240	0	2465	2465	6705
608368	ANITA LAKRA	Female	M. A./Hindi/II	Renewal	8	530	4240	0	2405	2405	6645
698371	AWADHESH RAM	Male	B. Sc./Science/II	Renewal	10	300	3000	0	2185	2185	5185
885941	AMIT SINGH	Male	B. A./Arts/III	Renewal	8	300	2400	0	2010	2010	4410
1157524	KU MANMATI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2010	2010	5010
844603	Umesh Kumar	Male	B. Sc./Science/III	Renewal	9	300	2700	0	2185	2185	4885
1297526	SONAM PANNA	Female	B. A./Arts/III	Renewal	10	300	3000	0	2010	2010	5010
924703	JAGMANI LAKRA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	2185	2185	4885
1294533	VINDU KUMAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1297770	SAMEER MINJ	Male	B. A./Arts/III	Renewal	7	300	2100	0	2010	2010	4110
1298128	ASRITA KASHI	Female	B. A./Arts/III	Renewal	10	300	3000	0	2010	2010	5010
1298151	DURGAWATI SINGH	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1302285	PRAMITA KHAIRWAR	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1304452	BINDU KUMARI	Female	B. A./Arts/III	Renewal	10	300	3000	0	2010	2010	5010

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Balcompus 18-03-19

(Signature seal of Head of Histitution) ार्द्धवाद्यां चित्राची Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/3952/2/7/86971

Sanction Date: 13/03/2019

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1321211	SUNITA MANJHI	Female	B. A./Arts/II	Renewal	10	300	3000	0	2010	2010	5010
1317189	PRIYANKA LAKRA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	2185	2185	4885
1307338	SARITA SINGH	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1554847	SANGITA SINGH	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2185	2185	4585
1534115	KUMARI SHIVANTI	Female	B. Sc./Science/III	Renewal	9	300	2700	0	2185	2185	4885
1520854	REKHA TOPPO	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1520348	MAMTA PAIKRA	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2185	2185	4585
1514842	SUSHMA MINJ	Female	B. Sc./Science/III	Renewal	9	300	2700	0	2185	2185	4885
1483064	MANIHARI PAINKRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1473126	MAMTA KUMARI	Female	B. Sc./Science/II	Renewal	9	300	2700	0	2185	2185	4885
1390672	MOHANLAL POYA	Male	B. A./Arts/III	Renewal	8	300	2400	0	2010	2010	4410
1414055	SUNDARMATI TIRKEY	Female	B. A./Arts/II	Renewal	8	300	2400	0	2010	2010	4410
1384724	MANITA SINGH	Female	B. A./Arts/II	Renewal	10	300	3000	0	2010	2010	5010
1456880	KUMARI BIJANTI EKKA	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
1307271	SEEMA SINGH	Female	B. A./Arts/III	Renewal	10	300	3000	0	2010	2010	5010
1307287	AJAY KUMAR SIDAR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	2185	2185	4885
1435942	YASHODA NAGVANSI	Female	B. Sc./Science/II	Renewal	10	300	3000	0	2185	2185	5185
1435797	SUGANTI SINGH	Female	B. Sc./Science/II	Renewal	10	300	3000	0	2185	2185	5185

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Badrompur
Date: 18-03-19

(Signature & Sparfor Head of the Institution) manne (Capital Leters):

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/3952/2/7/86971

Sanction Date: 13/03/2019

Applications Type: Renewal

Application	on ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
14	13903	PRAMILA XALXO	Female	B. A./Arts/II	Renewal	8	300	2400	0	2010	2010	4410
13	72306	ASRITA PAIKRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
13	47869	MUNNI TOPPO	Female	B. A./Arts/II	Renewal	10	300	3000	0	2010	2010	5010
13	21739	MAMTA MURUM	Female	B. A./Arts/II	Renewal	10	300	3000	0	2010	2010	5010
13	26629	LILLY KOPRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	2010	2010	4710
13	33364	GEETA PANNA	Female	B. A./Arts/III	Renewal	10	300	3000	0	2010	2010	5010
13	47064	SANDEEP KUMAR	Male	B. A./Arts/II	Renewal	8	300	2400	0	2010	2010	4410
							Total:	119520	0	88000	88000	207520

Declaration:

Place: Balsambur
Date: 10 03:19

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/3952/2/7/87000

Sanction Date: 13/03/2019

Applications Type: Fresh

Application ID	Student Name	. Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
548112	Devkun Ram	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0	2465	2465	7235
742329	RAJENDRA KUMAR	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0	2465	2465	7235
1163073	SONIYA SINGH	Female	M. A./Hindi/I	Fresh	9	530	4770	0	2405	2405	7175
1210959	PAWANDEEP TOPPO	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0	2465	2465	7235
1349709	PUNAM PUHUP	Female	M. Sc./Chemistry/I	Fresh	9	530	4770	0	2465	2465	7235
1473173	UDIT NARAYAN DEVNHA	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2185	2185	4885
1508700	RAJENDRA KUMAR SINGH	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	2010	2010	5010
1501433	SANDEEP EKKA	Male	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1538175	MAHESH RAM	Male	B. A./Arts/I	Fresh	9	300	2700	0	2010	2010	4710
1528080	ASRITA BARA	Female	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1480050	SATYENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	2010	2010	4710
1498866	KUMARI ASARO	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2185	2185	5185
1499014	ANIMESH SINGH	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	2010	2010	4710
1528336	NILIMA KACHHAP	Female	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1536456	SHEETU SINGH	Male	B. Sc. (Hons.)/Chemistry/I	Fresh	9	300	2700	0	2185	2185	4885
1538347	LAVKUN RAM	Male	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1538690	ANURAG TIRKEY	Male	B. Sc./Home Science/I	Fresh	9	300	2700	0	2185	2185	4885

Declaration:

Place: Bahramphy
Date:

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/3952/2/7/87000

Sanction Date: 13/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1539501	SIYESH KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1541207	NILIMA TIRKEY	Female	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1541438	ARTI EKKA	Female	B. Sc./Home Science/I	Fresh	8	300	2400	0	2185	2185	4585
1559091	AASMANI LAKRA	Female	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1553872	SUSHMA RAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2185	2185	5185
1556725	SUKRITA EKKA	Female	B. A./Arts/I	Fresh	9	300	2700	0	2010	2010	4710
1571209	INDRAJIT BAGHEL	Male	B. A./Arts/I	Fresh	9	300	2700	0	2010	2010	4710
1575728	SUSMA MINJ	Female	B. A./Arts/I	Fresh	9	300	2700	0	2010	2010	4710
1587480	PREMSAY AYAM	Male	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1598044	KAUSHIKI RAM	Female	B. Sc./Home Science/I	Fresh	10	300	3000	0	2185	2185	5185
1606393	NIRMAL KUMAR TIRKEY	Male	B. A./Arts/I	Fresh	10	300	3000	0	2010	2010	5010
1587056	DHARMAN DHARMAN	Male	B. Sc./Home Science/I	Fresh	10	300	3000	0	2185	2185	5185
						Total :	92550	0	61905	61905	154455

Declaration:

Place: Balrompir

18.03.19

(Signature & Seal California (Institution) 新加州 (Capital Lagers 7.1)

Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/3952/1/9/87050

Sanction Date: 13/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1585586	POONAM KATALE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	2185	2185	5185
1595150	MEENA RAVI	Female	B. Sc./Home Science/I	Fresh	9	300	2700	0	2185	2185	4885
1606590	RAKHI BHARTI	Female	B. Sc./Home Science/I	Fresh	9	300	2700	0	2185	2185	4885
						Total:	8400	0	6555	6555	14955

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Borbemon n Date: 18.03.19

(Signature & Seal of Handron the Mistitution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/3952/3/10/87052

Sanction Date: 13/03/2019

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
876120	LALAN PRASAD	Male	M. Sc./Chemistry/I	Fresh	9	100	900	0	2520	2520	3420
1169209	POOJA JAISWAL	Female	M. Sc./Chemistry/I	Fresh	9	115	1035	0	2465	2465	3500
1486047	NIRUPA GUPTA	Female	B. A./Arts/I	Fresh	10	70	700	0	2125	2125	2825
1514294	AMLESH KUMAR PRAJAPATI	Male	B. Sc./Science/I	Fresh	10	55	550	0	2300	2300	2850
1519828	DEEPAK KUMAR YADAV	Male	B. Sc./Science/I	Fresh	9	55	495	0	2300	2300	2795
1522508	VIVEK SONI	Male	B. Sc./Science/I	Fresh	10	55	550	0	2300	2300	2850
1543789	POOJA LAL	Female	B. Sc./Science/I	Fresh	9	70	630	0	2185	2185	2815
1544381	RAVI KUMAR GUPTA	Male	B. A./Arts/I	Fresh	10	55	550	0	2125	2125	2675
1557901	SANDEEP KUMAR YADAV	Male	B. A./Arts/I	Fresh	9	55	495	0	2125	2125	2620
1525215	ARTI GUPTA	Female	B. Sc./Science/I	Fresh	10	70	700	0	2185	2185	2885
1536848	ANKITA GUPTA	Female	M. Sc./Chemistry/I	Fresh	10	115	1150	0	2405	2405	3555
1559779	VISHAL THAKUR	Male	B. Sc./Home Science/I	Fresh	10	70	700	0	2300	2300	3000
1564766	CHUNESHWAR RAM	Male	B. A./Arts/I	Fresh	9	55	495	0	2125	2125	2620
1604455	ARJUN KUSHWAHA	Male	B. A./Arts/I	Fresh	9	55	495	0	2125	2125	2620
1595005	PAPPU KUMAR KUSHWAHA	Male	B. A./Arts/I	Fresh	9	55	495	0	2125	2125	2620
1586903	DAVID MAHANT	Male	B. Sc./Science/I	Fresh	9	55	495	0	2300	2300	2795
1570835	VINOD YADAV	Male	B. Sc./Home Science/I	Fresh	10	70	700	0	2300	2300	3000

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs......as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Balvara pun

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT, NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: N/8/3952/3/10/87052

Sanction Date: 13/03/2019

Applications Type: Fresh

Total:	11135	0	38310	38310	49445
--------	-------	---	-------	-------	-------

Declaration:

Place: Bahronn

18.03.19

(Signature & Seal अविकास का मार्थ (mâtitution)



Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/3952/3/10/87058

Sanction Date: 13/03/2019

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Tÿpe	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
584517	Sonam kumari	Female	M. Sc./Chemistry/II	Renewal	9	115	1035	0	2465	2465	3500
992453	AMIT KUMAR YADAV	Male	M. Sc./Chemistry/II	Renewal	9	100	900	0	2580	2580	3480
1197012	SONIYA YADAV	Female	M. Sc./Chemistry/II	Renewal	9	115	1035	0	2465	2465	3500
1254379	SHARDA YADAV	Female	B. A./Arts/III	Renewal	9	85	765	0	2010	2010	2775
1255296	JYOTI GUPTA	Female	B. A./Arts/III	Renewal	9	85	765	0	2010	2010	2775
1255663	DEEPAK KUMAR SONI	Male	B. A./Arts/III	Renewal	10	70	700	0	2125	2125	2825
1256056	ROHIT KUMAR GUPTA	Male	B. A./Arts/III	Renewal	10	70	700	0	2125	2125	2825
1273842	PRIYANKA PAL	Female	B. Sc./Science/II	Renewal	9	85	765	0	2185	2185	2950
1285871	MAHENDRA KUMAR RAJAK	Male	B. A./Arts/III	Renewal	9	70	630	0	2125	2125	2755
1304487	ANAMIKA DAS	Female	B. A./Arts/III	Renewal	10	85	850	0	2010	2010	2860
1352466	SANJU KUMARI KUSHWAHA	Female	B. Sc./Science/III	Renewal	9	85	765	0	2185	2185	2950
1340992	SUPRIYA SONI	Female	B. A./Arts/II	Renewal	9	85	765	0	2010	2010	2775
1340797	KHUSHEE PRAJAPATI	Female	B. A./Arts/II	Renewal	9	85	765	0	2010	2010	2775
1336516	UPENDRA RAJAK	Male	B. A./Arts/II	Renewal	8	70	560	0	2125	2125	2685
1327513	RAJENDRA KUMAR YADAV	Male	B. Sc./Science/II	Renewal	9	70	630	0	2300	2300	2930
1327113	SANDHYA RANI	Female	B. A./Arts/II	Renewal	10	85	850	0	2010	2010	2860
1353128	DHURV KUMAR YADAV	Male	B. Sc./Science/II	Renewal	9	70	630	0	2300	2300	2930

Declaration:

Place: Boilsamonr

18-03-0

(Signature & Seal of Head of Head stitution) भारतीय देवीन में प्रिकार के स्ट्रांस के स्ट्

Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/3952/3/10/87058

Sanction Date: 13/03/2019

Applications Type: Renewal

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1354973	MAYA GUPTA	Female	B. A./Arts/III	Renewal	9	85	765	0	2010	2010	2775
1333016	POOJA GUPTA	Female	B. A./Arts/II	Renewal	10	85	850	0	2010	2010	2860
1346956	MANOJ KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	0	2125	2125	2755
1360825	MAMTA YADAV	Female	B. Sc./Science/II	Renewal	10	85	850	0	2185	2185	3035
1362243	VANSHIKA SONI	Female	B. Sc./Science/II	Renewal	10	85	850	0	2185	2185	3035
1375332	PRADEEP KUMAR YADAV	Male	B. A./Arts/II	Renewal	9	70	630	0	2125	2125	2755
1375473	DILIP YADAV	Male	B. A./Arts/II	Renewal	10	70	700	0	2125	2125	2825
1437118	ANITA GUPTA	Female	B. A./Arts/II	Renewal	9	85	765	0	2010	2010	2775
1441458	SIKANDAR VISHWAKARMA	Male	B. Sc./Science/II	Renewal	10	70	700	0	2300	2300	3000
1376047	KUSH KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	0	2125	2125	2755
1414943	SAURABH JAISWAL	Male	B. Sc./Science/II	Renewal	9	70	630	0	2300	2300	2930
1457625	NITISH KUMAR THAKUR	Male	B. A./Arts/II	Renewal	9	70	630	0	2125	2125	2755
1482924	PARWATI YADAV	Female	B. A./Arts/II	Renewal	10	85	850	0	2010	2010	2860
1512794	USHA YADAV	Female	B. A./Arts/II	Renewal	7	85	595	0	2010	2010	2605
1516144	GEETA YADAV	Female	B. A./Arts/II	Renewal	9	85	765	0	2010	2010	2775
1561257	NEELU YADAV	Female	B. Sc./Science/II	Renewal	9	85	765	0	2185	2185	2950
1549346	SALVI GUPTA	Female	B. Sc./Home Science/III	Renewal	9	85	765	0	2185	2185	2950
1549097	PUNIT KUMAR	Male	B. A./Arts/III	Renewal	9	70	630	0	2125	2125	2755

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.os maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh

Scholarship Scheine: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. NAVIN COLLEGE BALRAMPUR

Academic Year: 2018-19



State: Government of Chhattisgarh

Sanction Number: R/8/3952/3/10/87058

Sanction Date: 13/03/2019

Applications Type: Renewal

Applica	ation ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	1538030	RITESH YADAV	Male	B. A./Arts/III	Renewal	9	70	630	0	2125	2125	2755
	1518147	RUPA GUPTA	Female	B. A./Arts/II	Renewal	9	85	765	0	2010	2010	2775
	1414512	ugesh kumar gupta	Male	B. Com./Commerce/II	Renewal	10	70	700	0	2125	2125	2825
	1375748	RAM BHAJAN RAHI	Male	B. A./Arts/II	Renewal	9	70	630	0	2125	2125	2755
							Total:	28835	0	83575	83575	112410

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs,Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees, Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Balsampum 18-03-19 Place: Date :

(Signature & Sea महिम्मिक्स का मोर्ख Institution)